

Multiply by 10^{-1} (I)

Find each product.

$$8,84 \times 10^{-1} =$$

$$3,24 \times 10^{-1} =$$

$$9,7 \times 10^{-1} =$$

$$8,3 \times 10^{-1} =$$

$$5,134 \times 10^{-1} =$$

$$1,1 \times 10^{-1} =$$

$$5,19 \times 10^{-1} =$$

$$5,499 \times 10^{-1} =$$

$$0,12 \times 10^{-1} =$$

$$2,5507 \times 10^{-1} =$$

$$3,4431 \times 10^{-1} =$$

$$2,4 \times 10^{-1} =$$

$$3,7855 \times 10^{-1} =$$

$$4,4 \times 10^{-1} =$$

$$3,6 \times 10^{-1} =$$

$$1 \times 10^{-1} =$$

$$3,72 \times 10^{-1} =$$

$$3,7 \times 10^{-1} =$$

$$7,0336 \times 10^{-1} =$$

$$9,037 \times 10^{-1} =$$